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HOOflf =%

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & G| i E (A5
HUL R
(R TIX)
= 1 168, 798, 100
W+
= 1 32, 586, 476
>
m3 2, 600 10, 146, 580
A (S &+ 2. bR
= 1 5, 055, 930
A (S &+ 2. 5mPA 4. OmA T
= 1 1, 156, 960
b S TE D CEUL EHRY HET)
m3 2,430 1,411 3, 428, 730
FEHIA (h=27) -1+ £50, 000m3 AT
m3 2, 400 210.4 504, 960
%+ (ICT)
m3 10, 000 20, 345, 760
B AR (BEER) B - (ICT)
= 1 2, 320, 000
b S TE D CEUL EHRY HET)
m3 11, 120 1,411 15, 690, 320
FEHIA (b=27) -1+ £50, 000m3 AT
m3 11, 100 210.4 2, 335, 440
R T (1CT)
= 1 2,094, 136
EHFETE (% 50 (ICT) T T Al [ oD M L
m2 4, 240 493.9 2,094, 136
LR T
= 1 99, 132, 740
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # i E (A5
EE LT
= 1 2,110, 435
29N =47 my ) T (V)Y =b7 7wy ) FE)
= 1 94, 302, 345
Bl T 3 ) -h 18-8-40 (Fi47) JEIE 80cm M &
45 ¢ m
(B2 =77 ny ) Beplh)
m 550 14, 791 8, 135, 050
KT wy ) fg $2 2 750
(I FBREERAETT ny))
m2 2,035 31, 662 64, 432, 170
JIR3A - AR () FAERER RC-40
m3 578 3, 899 2,253, 622
HHEE HN|F L 50~150mm
(FIZEAH)
m3 953 14, 199 13, 531, 647
Wt UBG IEAF (A2t 7% & A MEAHAT 10mm
m2 2,040 930 1, 897, 200
H Hi VB HEMEE B A =10
(Kigavr)-h)
m2 8 3,177 25, 416
BT RKias ) -h 18-8-40 (i 47)
(15 K¥as ) =)
m3 76 52, 990 4,027, 240
AT
= 1 2,719, 960
ANLHEZ 7 Z4F
m2 4, 240 641.5 2,719, 960
P B 1
= 1 4, 452, 848
TAT7 V%S T
(HIEEHEEA)
= 1 4, 452, 848
I JE A (o - BT ) FA159v477 RC-30 4 BV E 100
mm
m2 2,120 423. 4 897, 608
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # T (G E LM
)@ (BE - BFE) FAEBRIET 22/ (20) Afi4E)E 50m
m 3. 0mi#
m2 2,120 1,677 3, 555, 240
G RE K NN
= 1 29, 713, 988
BT
(EZRHEFT)
= 1 29, 713, 988
USSR R H EAETE 1510 X 1490
m 56 349, 353 19, 563, 768
g fE EHIE 1510 X 1490
m 56 52,148 2,920, 288
TATIE E IRV
m3 34 207, 541 7, 056, 394
& O b MHEREV IV
&0 2 86, 769 173, 538
[fTan
= 1 2,912, 048
RImE T
= 1 2,912, 048
B T HE
= 1 168, 798, 100
BTl TE:
= 1 16, 421, 560
B ST ¢
= 1 2,579, 622
Htre m
= 1 1,111, 580
PREFE B (ICT)
= 1 52, 149
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
VAT LRI (ICT)
= 1 1, 059, 431
BUGERRYCEE (5 1)
= 1 1, 468, 042
MR R (B L)
= 1 13, 841, 938
Wi
= 1 185, 219, 660
BTk X=giiv oy
= 1 47, 789, 955
R 5]
= 1 283, 517, 385
— R
= 1 40, 422, 615
T HAlik
= 1 323, 940, 000
THE B 2 %8
= 1 32, 394, 000
TG
= 1 356, 334, 000

-4 - [ rxmd )R




N 2

it

£

Ll P Y B B T AR T ) 15 3 e

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & G| i E (A5
HUL R
O LX)
= 1 15, 320, 417
W+
= 1 3,319, 125
>
m3 280 1, 065, 701
A (S &+ 2. bR
= 1 561, 770
A (S &+ 2. 5mPA 4. OmA T
= 1 122,927
b S TE D CEUL EHRY HET)
m3 260 1,255 326, 300
FEHIA (h=27) -1+ £50, 000m3 AT
m3 260 210.4 54, 704
%+ (ICT)
m3 1,100 2,026, 230
B AR (BEER) B - (ICT)
= 1 255, 200
b S TE D CEUL EHRY HET)
m3 1,210 1,255 1, 518, 550
FEHIA (b=27) -1+ £50, 000m3 AT
m3 1,200 210.4 252, 480
R T (1CT)
= 1 227,194
EHFETE (% 50 (ICT) T T Al [ oD M L
m2 460 493.9 227,194
LR T
= 1 10, 788, 088
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # i E (A5
EE LT
= 1 225,178
29N =47 my ) T (V)Y =b7 7wy ) FE)
= 1 10, 267, 820
Bl T 3 ) -h 18-8-40 (Fi47) JEIE 80cm M &
45 ¢ m
(B2 =77 ny ) Beplh)
m 60 14, 791 887, 460
KT wy ) fg $2 2 750
QCHRERERT vy))
m2 222 31, 653 7,026, 966
JIR3A - AR () FAERER RC-40
m3 63 3, 899 245, 637
HHESRE HN|F L 50~150mm
(FIZEAH)
m3 104 14, 199 1,476, 696
Wt UBG IEAF (A2t 7% & A MEAHAT 10mm
m2 220 930 204, 600
H Hi VB HEMEE B A =10
(Kigasr)=h)
m2 0. 3,177 2,541
BT RKias ) -h 18-8-40 (i 47)
(15 K¥as ) =)
m3 8 52, 990 423,920
AT
= 1 295, 090
ANLHEZ 7 Z4F
m2 460 641.5 295, 090
P B 1
= 1 485, 192
TAT7 V%S T
(HIEEHEEA)
= 1 485, 192
I JE A (o - BT ) FA159v477 RC-30 4 BV E 100
mm
m2 231 423. 4 97, 805
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
)@ (BE - BFE) FEABRIET 227 (20) Afi%EE 50m)
m 3. 0mi#
m2 231 1,677 387, 387
[fTan
= 1 728,012
RImE T
= 1 728,012
B T HE
= 1 15, 320, 417
BTl E:
= 1 2,198, 520
B ST ¢
= 1 221, 101
Htre m
= 1 5, 702
PREFE B (ICT)
= 1 5, 702
BUGERRYGEE (5 1)
= 1 215, 399
HimE R (FE L)
= 1 1,977, 419
Wi
= 1 17,518, 937
BTk X=giiv oy
= 1 7,333, 740
R 5]
= 1 24, 852, 677
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & G| i E (A5
HUL R
(kL IX)
= 1 15, 858, 437
W+
= 1 3, 857, 145
>
m3 280 1, 160, 861
A (S &+ 2. bR
= 1 561, 770
A (S &+ 2. 5mPA 4. OmA T
= 1 122,927
b S TE D CEUL EHRY HET)
m3 260 1,621 421, 460
FEHIA (h=27) -1+ £50, 000m3 AT
m3 260 210.4 54, 704
%+ (ICT)
m3 1,100 2, 469, 090
B AR (BEER) B - (ICT)
= 1 255, 200
b S TE D CEUL EHRY HET)
m3 1,210 1,621 1,961, 410
FEHIA (b=27) -1+ £50, 000m3 AT
m3 1,200 210.4 252, 480
R T (1CT)
= 1 227,194
EHFETE (% 50 (ICT) T T Al [ oD M L
m2 460 493.9 227,194
LR T
= 1 10, 788, 088
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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # i E (A5
EE LT
= 1 225,178
29N =47 my ) T (V)Y =b7 7wy ) FE)
= 1 10, 267, 820
Bl T 3 ) -h 18-8-40 (Fi47) JEIE 80cm M &
45 ¢ m
(B2 =77 ny ) Beplh)
m 60 14, 791 887, 460
KT wy ) fg $2 2 750
BFEREMRAETT ny))
m2 222 31, 653 7,026, 966
JIR3A - AR () FAERER RC-40
m3 63 3, 899 245, 637
HHESRE HN|F L 50~150mm
(FIZEAH)
m3 104 14, 199 1,476, 696
Wt UBG IEAF (A2t 7% & A MEAHAT 10mm
m2 220 930 204, 600
H Hi VB HEMEE B A =10
(Kigasr)=h)
m2 0. 3,177 2,541
BT RKias ) -h 18-8-40 (i 47)
(15 K¥as ) =)
m3 8 52, 990 423,920
AT
= 1 295, 090
ANLHEZ 7 Z4F
m2 460 641.5 295, 090
P B 1
= 1 485, 192
TAT7 V%S T
(HIEEHEEA)
= 1 485, 192
I JE A (o - BT ) FA159v477 RC-30 4 BV E 100
mm
m2 231 423. 4 97, 805
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
)@ (BE - BFE) FEABRIET 227 (20) Afi%EE 50m)
m 3. 0mi#
m2 231 1,677 387, 387
[fTan
= 1 728,012
RImE T
= 1 728,012
B T HE
= 1 15, 858, 437
BTl E:
= 1 2,262, 308
B ST ¢
= 1 227, 572
Htre m
= 1 5, 702
PREFE B (ICT)
= 1 5, 702
BUGERRYGEE (5 1)
= 1 221, 870
HimE R (FE L)
= 1 2,034, 736
Wi
= 1 18, 120, 745
BTk X=giiv oy
= 1 7,534, 348
R 5]
= 1 25, 655, 093
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